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Solve Linear Systems by Graphing ono27-435 |

Solve the linear system by graphing. Check yaur solistion,
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& solve Linear Systems by Substitution

EXERCISES
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Solve Linear Systems by Adding or Subtracting

EXERCISES @
Solve the Linear system using elimination. 3 @ £ o X
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Solve Linear Systems by Multiplying First
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24. CAR MAINTEMANCE Ypu pay $24.50 for 10 gallons of gasoline and 1 quart
of ol at a gas station. Your friend pays $22 for 8 gallons of the same
gasoline and 2 guarts of the same oil. Find the cost of 1 quart of oil,
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Solve Special Types of Linear Systems

EXERCISES

Tell whether the linear sysiern has owe soliiton, no solurion, or influifely
muany solutlons. Expinin,
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m Solve Systems of Linear Inequalities

EXERCISES
Graph the system of Hinear inequalitles.
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Classwork: CH7 Review WP page 479 #28 and
page 475 #'s 6, 8, 10, 14, 20, 22
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IXERCEES
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